TOOL KIT, BIOMEDICAL EQUIPMENT TECHNICIAN, NSN 5180-00-117-3414

NSN DESCRIPTION
QTY
3439-00-009-2334 WICK, DESOLDERING 1EA
3439-00-132-1331* DESOLDERING TOOL 1EA
3439-00-317-2732 HEATING UNIT, ELECT. SOLDERING IRON 1EA
3439-00-611-7136 SOLDERING AID TOOL 1EA
3439-00-631-6821 HANDLE, ELECTRIC SOLDERING IRON 1EA
3439-00-801-0952 TIP, ELECTRIC SOLDERING IRON (SILVER/IRON) 1EA
3439-01-215-6406 TIP, ELECTRIC SOLDERING IRON (COPPER) 1EA
5110-00-186-7107 CHISEL, COLD, HAND 1EA
5110-00-204-2685 FILE SET, HAND (SWISS PATTERN) 1SE
5110-00-234-6532 FILE, HAND, FLAT 1EA
5110-00-240-5943 KNIFE, POCKET 1EA
5110-00-241-9147 FILE, HAND, % ROUND 1EA
5110-00-246-0975 STRIPPER, WIRE, HAND 1EA
5110-00-255-0420 SCISSORS, ELECTRIAN'S 1EA
5110-00-263-0349 HANDLE, FILE, WOOD 1EA
5110-00-935-0809* PLIERS, DIAGONAL CUTTING 4’ 1EA
5110-01-314-1814* PLIERS, DIAGONAL CUTTING 6’ 1EA
5120-00-056-3938* WRENCH, SOCKET XCELITE (99-7), 7/32’ 1EA
5120-00-056-3940* WRENCH, SOCKET XCELITE (99-9), 9/32" 1EA
5120-00-056-3942* WRENCH, SOCKET XCELITE (99-11), 11/32" 1EA
5120-00-056-3943* WRENCH, SOCKET XCELITE (99-12), 3/8” 1EA
5120-00-056-3945* WRENCH, SOCKET XCELITE (99-16), %' 1EA
5120-00-061-8541 HAMMER, HAND 8 OZ. 1EA
5120-00-081-2305 WRENCH SET, SOCKET 1SE
5120-00-087-6415 KEY SET, SOCKET HEAD SCREW 1SE

(SPLINE KEYES, SIZES: .060, .069, .072, .096, .111, .145,

183)
5120-00-089-0874 PLIERS, RETAINING RING 1EA
5120-00-112-9599 KEY SET, SOCKET HEAD SCREW 1SE

(ALLEN WRENCH, METRIC,SIZES: 2, 3, 4, 5, 6, 7, 8)
5120-00-152-2298* WRENCH, SOCKET XCELITE (99-6), 3/16” 1EA
5120-00-152-2299* WRENCH, SOCKET XCELITE (99-14), 7/16” 1EA
5120-00-159-8881* WRENCH, SOCKET XCELITE (99-8), ¥4’ 1EA
5120-00-159-8882* WRENCH, SOCKET XCELITE (99-10), 5/16” 1EA
5120-00-221-1542 AWL, SCRATCH 1EA
5120-00-224-7446 PUNCH, PRICK 1EA
5120-00-240-5328 WRENCH, OPEN END, ADJUSTABLE 8’ 1EA
5120-00-240-5330 WRENCH, OPEN END, ADJUSTABLE 4’ 1EA
5120-00-240-6082 PUNCH, DRIVE PIN, SIZE 1 1EA
5120-00-241-5521 T-HANDLE, NUTDRIVERS 1EA
5120-00-242-5966 PUNCH, DRIVE PIN, SIZE 2 1EA
5120-00-255-4458* BURNISHER, CONTACT, HAND 1EA
5120-00-277-4243 WRENCH, PLIER 7’ 1EA
5120-00-278-0326 SCREW STARTER, HAND 1EA
5120-00-278-2423 CRIMPING TOOL, TERMINAL HAND 1EA
5120-00-288-8739 SCREWDRIVER SET JEWELERS (6 PC) 1SE
5120-00-293-0149* TWEEZERS, CRAFTMAN'S 1EA
5120-00-448-2455 MIRROR, INSPECTION 1EA

212 ATCH1 AFMLL 04-98




TOOL KIT, BIOMEDICAL EQUIPMENT TECHNICIAN, NSN 5180-00-117-3414

NSN DESCRIPTION QTyY
5120-00-448-3924 SPRING TOOL, PUSH TYPE 1EA
5120-00-448-3927 SPRING TOOL, PULL TYPE 1EA
5120-00-508-9755 ALIGNMENT TOOL, ELECTRONIC 1EA
5120-00-529-1475 KEY SET, SOCKET HEAD SCREW 1SE

(ALLEN WRENCHES, SAE, SIZES: .050, 1/16, 5/64, 3/32, 1/8,

5/32, 3/16,7/32, ¥4, 5/16, 3/8)
5120-00-851-4247 HEX SCREWDRIVER BIT SET 1SE

(HANDLE, EXTENSION, BITS: .050, 1/16, 5/64, 3/32, 1/8,

9/64, 5/32, 3/16)
5120-00-962-7580 WRENCH SET, OPEN END, FIXED 1SE

SIZES:13/64, 15/64, 7/32, ¥, 9132, 5/16, 11/32, 3/8)
5120-00-965-0604 WRENCH, PLIER Y’ 1EA
5120-01-064-1943* SCREWDRIVER BIT SET & HANDLE 1SE

(HANDLE BITS:#00,.040, .055, .070, .080, .100)
5120-01-106-3753* KEY SET, SOCKET HEAD SCREW 1SE

(WRENCH, ¥4 ADAPTER, BITS: .050, 1/16, 5/64, 3/32, 1/8,

5/32, 3/16, 7/32, ¥4 & 3/8 FLAT, #1& #2 PHILLIPS)
5120-01-133-0025* PLIERS, SLIPJOINT 8" 1EA
5120-01-188-3879* PLIERS, SLIPJOINT 6” 1EA
5120-01-197-5408* PLIERS 6" 1EA
5120-01-261-6873* PLIERS, SLIP JOINT 10" 1EA
5120-01-335-3548* SCREWDRIVER, CROSSTIP#0 X 1-1/4” 1EA
5120-01-335-6882* SCREWDRIVER, CROSSTIP#1 X 3" 1EA
5120-01-335-6884* SCREWDRIVER, CROSSTIP#2 X 1-1/2 1EA
5120-01-335-6885* SCREWDRIVER, CROSSTIP#2 X 4 1EA
5120-01-335-8531* SCREWDRIVER, CROSSTIPYY X 4" 1EA
5120-01-335-8542* SCREWDRIVER, CROSSTIP5/16” X 6” 1EA
5120-01-335-8546* SCREWDRIVER, CROSSTIPYY X 2" 1EA
5120-01-335-8556* SCREWDRIVER, CROSSTIP1/8" X 4’ 1EA
5120-01-335-8558* SCREWDRIVER, CROSSTIP1/8" X 8" 1EA
5120-01-335-8560* SCREWDRIVER, CROSSTIP 3/16" X 3" 1EA
5120-01-335-8564 SCREWDRIVER, CROSSTIP 3/32" X 20 1EA
5140-01-256-3469 TOOL, BOX, PORTABLE 1EA
5210-00-031-1504 GAGE, GAP SETTING 1EA
5210-00-078-3905* TAPE , MEASURING 1EA
5210-00-223-9604 LEVEL, POCKET 1EA
5210-00-234-5223 RULE, STEEL MACHINISTS' S 1EA
6230-01-115-2019* FLASHLIGHT, PENLIGHT DISPOSABLE 1EA
6625-00-489-3700 RECEPTANCECIRCUIT TESTER 1EA
6625-01-101-1766* TEST LEAD KIT 1EA
6625-01-168-6856 MULTIMETER 1EA
7920-01-127-4376 BRUSH, WIRE, SCRATCH 1EA
NSL 3439* SOLDER, TIN ALLOY (NSN NOT ASSIGNED) 1EA
NSL 5120* PLIERS4-1/2" CHAIN NOSE (NSN NOT ASSIGNED) 1EA
NSL 5120* KEY SET, SOCKET HEAD SCREW (SEE BELOW) 1SE

213

5120-00-198-5392
5120-00-198-5398
5120-00-198-5400
5120-00-198-5401

5/32 5120-00-224-4659 14
1/16 5120-00-242-7410 3/32
.035 5120-00-242-7411 7/32
.050 5120-00-555-2639 .028

ATCH1 AFMLL 04-98




TOOL KIT, BIOMEDICAL EQUIPMENT TECHNICIAN, NSN 5180-00-117-3414

5120-00-240-5292 1/8 5120-00-889-2162 7/64
5120-00-240-5300 3/16 5120-00-889-2163 9/64
5120-00-224-2504 5/64

213 ATCH1 AFMLL 04-98



